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Matematika – základní úroveň 
Didaktický test   
 
 

úloha podúloha 
správné 
řešení 

bodování 

1   900532 222 n  
1 
0 

2   2r  1 
0 

3   6k  1 
0 

4   2z  2 
0 

5   52
2

5
cotg ,x   

2 
1 
0 

6   8155 a , 1651 a  
2 
1 
0 

7 
7.1  2;3 v


 

1 
0 

7.2  0;6P  
1 
0 

8 

 8.1 30  x,x  1 
0 

8.2 3x  
3 
2 
0 

9 

 9.1 

 A B C D   
A – 10 16 0 26 

B 10 – 15 7 32 

C 16 15 – 12 43 

D 0 7 12 – 19 
 

2 
1 
0 

 

9.2 48 
1 
0 

9.3 60 
1 
0 

10 

10.1  

A B

CD

S

 

1 
0 

10.2 cm36o  2 
0 

10.3 67  1 
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úloha podúloha 
správné 
řešení 

bodování 

0 

11 

11.1 m21x  
2 
1 
0 

11.2 




tgtg

tgtg






x
v  2 

0 

12 

 12.1 NE Max. 4 body 
4 podúlohy 4 b. 
3 podúlohy 2 b. 
2 podúlohy 0 b. 
1 podúloha 0 b. 
0 podúloh   0 b. 

12.2 ANO 

12.3 NE 

12.4 NE 

13   B 3 

14   A 3 

15   D 3 

16   C 3 

17   A 3 

18 

18.1 A Max. 4 body 
3 podúlohy 4 b. 
2 podúlohy 2 b. 
1 podúloha 0 b. 
0 podúloh   0 b. 

18.2 E 

18.3 D 

Celkem 50 
 
 


